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ANNUAL EXAMINATION SYSTEIVI

PHYSICS (Theory)

(Common for Science and Agriculture Groups)

(Punjabi, Hindi and English Versions)

(Bvening Session)

Time allowed : Three hours Maximum marks : 70

(Punjabi Version)

*e : (i) wr$ - d-ffi t zrdw UA ? fu-As/?tta-*y er8' .ur6' rfu f*r-ai/fur€-#-
052lLwtr edir {A fi t

(ii) ffi;ffi E? a7 &F g {a fua a etr 5€ fq ter trv e,*w Hfu 30 tt ad
,rl? 6Ta Wew d6 t

(iii) - @ffi E€ H,u? t16r/{t #ra- f qr>tr€ i6 dT} at qtd/tpt v Wtag aaT
dtBr f,ew t

(iv) tidtdwt ! ffi ffisd/*dr M ?-d3a €? wfdrw I t

(v) -?7 Vd€i N d'd1e, a ,,'d H*qs War/f6qr+/fu/fti3.a atr xt+aqs fr vdle,
ir

(vi) qad Eue I # S *d trq-fu ,fia e td t

(vii) qad Ead 9 f 16 iil E-g ,M e ad t

(viii)tludEaelT t23iavry-eqffiead t ffieT EWdr fu>@dZ
Jffii

(i4)' qm Eae 24 t z6fa e-A bW e w r W tu ?@ *a Jffi r

(x) tffi w? ffie? fu qrd drY W v .+tlgq- od t fd-tfq >ilI€q- rydH6 ?
>rwfTs de A M ffi'vdv e? Hffi fu Wfr fu yas 6 fr Hd flflr,n
re/

1. fi{EdJ ry{r rrd {dtq{J'3ar-llala s Lrs vig fr}{.Er ds a | (FSfdE'3) 
1

2. r?rfrTAuftrs frFsrrytfrro, fu t ffi {rq*T&drrqfdrgarffune'd*}rrtro I

Roll No. .&nJ80.5651:1 ,

Total No. of Questions : 261

3. EE rrarrg'FH'a M t.67xt0a7g t vovo i I (dt/6tr)

0s2lA-ss

osuA
[Total No. of Printed Pages : ll
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(2)

4. E-d g?d sS-

D{dqu6a d ffi g6{Jr-

(i) ffi Bar'r6 eqd 3.itz tfi A I

(ii) ffi Bar-r6 ere 3 Eud t I

(iii) sn+rrs Yssa aq zr& vgs-d t

(iv) uftlei dz ,r{3 fua sno+.o eq-d 3 €qd a I

5. 6*iiq LCR rro*a Et )rre>6.S'ry'ffi* et ufdEq. H t

G. 25Y e u}H6 ,frrd 3 setdr ffi ffid-{6 e1H 6.iI fr&rs Bt-Effi #q d e ?

7. ,,1_8t er rtey tH tfr |

8. \f$--ffi ue-aq * us ?

g. Hrfrnrh{r qrg }r-5,{ eth{i dHi g ffi fd d-E. Hr Ecrs A ? a-B.bd[q{ var ? forftrlrrr ail r

2

10. ffa g6 ffi ,rrdwq dra s trild-s- 10mm2, {$aq 5C) )rt3 @ frfdrrtT e ff,f,d.d Ua-Hs

)rEr 25V t t Ba-ret u afoaa ?m rrs'da, ilg so. ffi Bd-{6T * ffi+rrr urcy 5x1020

fu&*qq76-r ] I

11. g-rou frd.d d felrrfv'{. ErA I

12. fuFf,d'+r sfrdri t t $rtrfl ffi t

13.. fr"d ufdp?{'s Affircd, Ba o.lH s tild ,rl3 Fa too u q$tra, ffi
a.E 6*€iq El t0 uo, fun Ed€ra e u-*$ Erdra Ed A I fsr a*frred

2

2

2

220\!,50H2 a.c. x&g

S alh}r ),{3 frtrd

2q@BHr6uraa I

14. pn-fama t furFsrd Ary-d d ffi fd-€-dr E.fufii-dT Fs tag fu Hr* e ? fd-{dn q{effiilr e
rkErailtrdl+{ t 2

15. fra tffi d dud50cmi, fiffie Si gs 100a4 tlt? ig ua, fts 2.5 As a&a sdr fur'

i r (a)nffwgatw0)ffisse,trseE-Dfrdftae ffitsd (B) stsrrs
aa I tffu A + Fo=4nx l0-7WbA-l m-tl
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(3)

16. \fd.g e' Ililc ),tE-=d61 udrft,:rd a1 dg t ? yee ,r*- tnr*rsd t te -uS t 4d-fr Ea.st

ffi t l,Y2,Y2

17. ffi ffi-d a0xt'e Fs *Us €E-{. u Esd fr-e-rU-s at t s'dss'a}trad Ed gd-d. fqm w frs==
ililf$A? 3,1

18. ffi fra fiR €t $. AH. +d d uFdEH, tH r r}}Brft-a E1 Fdrfgs, 6ryt gtr C fu d
S.rftH.rfu. S gsar ffi as F{g A ? r,3

1lg. (a) ANDEte d E-sd TT'ile1ffi t

(b) iaffih{-d at de. i ? p-n fl-dm6 B'fufu, Ueo:ffm ffiam d 
=gr 

ffi tH *rs
a ? f€hr'lwe dA I E,{€r Eazra frsd EE€ |

Hr

1,1,1

(a) arr6 urlftc-d (nry. $sE-d-fra) qrfrn-cd s rrrr Erdrd (d&a frd) 1004 ,rr3 ssr_d+ra

Tila 8.08mAt 3t rrpqrd d&a i+r3 ffid-d aea e trg'q-s'dA t 2

(b) ia"d ffi ,rratrs.ra fro Bd-{6 or$*al-s er }16 24xla3 cm2 V-r S-r xt3 i-s'
gridgy g' l1.o0.2x103cm2V-rS-1 )?-r3 ffi-d-{6 ure:rr0.8xl0racm-3lrt3 ttr q6,
0.4x l014cm-3t sr ?krffirr65Er tdn Uffi s tQrn 16 ffi Er&rs'g ttr rrs
dal 2

20. ?irk3 ffi-3l-d d Edrlgr 6rS edrrdur+d e'fxqB, usa rrB dETI €fr d fotrfw'rr at r

1,1,1,1

22.

3(a) ea-ft#dffl \Pe e fdrili ffi t

(b) qH Huc 5q e, ar eA, i fu \[aw t aaltr Esrh{ 6 wx'-fu t t 1

e6_ffirs 6ft dpt i ? ef*_fuofi dau e. farTH we tB ffiq da fq affiq-dn{s fil-dnc

fimrfB afirrm dE e t 1,1,2

666 u,tu tft rrgE a.s *-crcrg Eulie-dffi d ua.rd, aarffi d f€l,{rflw{r da €' fa }trf3H

1f$ffis f?taeJH )rrd+{}d 3d f;d-c fig tO -25cm) 3 se-s ia I eS srffiFd magnifying

power(m) g'lga d-.€ t 1,1,1,1

ilr

(a) €'&ffi firfl Et rrred +15D )?r3 -5D a )flrr1frutrq trB iB orB rro 1 fifrs6 d ees gfr
rrsat | 1

(b) fdr A W ffi (Hke) WdT Pd, t TTM, fudr et )?mffi gfr o.tzS mm t ? q3u 
=fror

fffi d s&dr du's 4500A' t dd ] t 6*#o HM t vs i tm (Ife) d gfr 3 a I

ad eftiil e t& u'fr E-el Effi Tdz 6ffiH e Fs d ,,rruffi $u+ ail r 3

2L.
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(4)

24. (a) e ffi vs Qso A*ei dd d fra gt 6 6d- d2d,{r, ffi ?

(b) gcrx f?rqx 6 ufdEH. ft'e tB ffi T{fuH frtsd t rrrrqrd 3 feffi+rr aA I ffit ErdiT

t s.t HEktr d ufdE rn figg tt, E:{rrt{ f6qH Et'}ti t fi{tri ftrt t

frr

l'2,2

1,2,1,1

ffi fr3 tE ffi rc )"rreTT q t ffighs 3s B Dtztry fdi ftd. f,e. e ? t

um d€ax tt ufdsrrr ffi t frs-d d )r€ ffi fra xr+.o rrrefm wB dsr-fld fiB A

arir€ G) ls t ur6a (ii) frs' t ),t-sd (iii) frs'r{rid fu A ss 3 Et ffi re 3 fvrsfr

Qgo g l+'o'aB I 1,4

1,4

Hr

smEtrfrz-o 6 ,rlHlnad frs fd+ Eefu,r{. m r*e' i ? 1

fra fifr ffi urdedt srtlzr ee i'ffi fra mrr ffi tgd frs t 3 uor ai vn s
grd f€-furd da I fw vs d fw we BE f6qt{ s ar ff | fuF }tffi fr-d fud Ys Er

3i fr,{rEr tedr }?t3 tTE Hffi ffi frga ? 3,1 ,1

26. (a) {dq e f€dJe- ts 6S r=e$ res ftrS t 1

. (b) q-orr6 e' q-ors€ d A ? 3u+ ffird d Fdrlw zs.r ffiero, g4rrdr u-d€d-d fu,{rfu},{r dA

u3 u3rra e fo.qx e EEd ft$strd de t

f,t

)2rcrqgtsr61Erffi feuerA ? 1

wdth{t Edh{i ftf6, u8rrdei'x.r3'H.fgtrt ffi tB ffisd fr }rw W ggg EiH rtfr Et
t*o gro tr-futis aa t

(a)

(b)

2s. (a) ttr$ffikgrs0rrufl-cd s.I.ffiffi t 1

(b) )Hfd{ ddts Eft dE A ? k r* €rq t aryo ffi ffieeam u&6 3 ue ffi {Htr

3 ffi Qsa e gro fe-fufs at t

(a)

(b)

(a)

(b)

0s2lA-ss
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(s)

(Hindi Version)

qb : (i) siq-* wr-g7k+.r i gw fs q-. frqq-ds/tw-d€ qd srt t frqq-dsftq:.ds ASUA etqsq

ffir
(ii) oar-gfuw AA d qsil- yw frqw as d B rrd aero €Bd 3A fqa E ryi nfr mq I d t

(iii) u-ar-gr?aor t stfr &).8 ?-+ W/yd * vwry w ffi fi seqntrt or Xwiw vfr frqr qfutr t

(iv) sWq wn iil/Wlw flRffi + sqqlr fr ewr di

(v) ew ado p7 arEv ffiir srcifiq qilrfrwtHardtdt sN sqfdd di an?vr

(vi) vst (i. 1 e 8 aq sdq cq eiq I t r

(vii) vn ri.9 d 16 oq e*q t e:to d d r

(viii) ttttq.fl I ZSaq s*q 4'riql+91ffi dvtfi t ouf,ftqqrr €fin

(ix) veq i. 24 I 26 rdq; s: eifr * dr gq# atmftq qrr 6htr 1

(x) cidrfi dqr /ffi + ypq eil .fr I vnl n argqv € t qq\fr eryETE WqH q( arEtftd 6}ar e ggft(, ffi
sq fr ftrn' + ot\fr + vat d a& qqr qrq r

1." trr wgul + RR qfrrteffidr orv g'ri+ fii qH e-gd uf\* 66t p, (vfirrsm) 1

z. Eil wA M{d t, Fr€Ji Egf, gqdq ilnil s} rqFreIRTr t csq fuqr qr t 1

3. \rs q{qrg (q,trr r+r{ t.0zx lP'gfr q{rq{ t r (eizrfr) 1

4. s{rfqrild m Rg( srirb'ar (tre s-rt gi)

(i) rs$nrqsifr+qffiBr
(ii) rq-+ nrq q-6i fr q-d-,ft t I

(iii) nrv qkTi fr rff qtcft 
t

(ir) arqq-sifrq-dt+qsit{furr.d,,fiBr - 1

5. q"k{s LCRqRqq m s{-g3rq1 eryfr d qRqrtr( st | . I

G. 25V Eqqiil( srr HPfi ffi ffiq ftq fr SdfYd$-dffi ilfited qr qRm-tr{ dfrq r 1

7. g&qr +r Xo +t{ {f,r{q I

8. qH-gq-dq qn?i flr dt E ?

g. qrfrfrqr rK Tguq + tm d ffi +d Bqr ETI {Trf,I B ? furq qftq fr serqflI t erqr +t r

052/A-SS
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10,

(6)

q-s (K Fffi-fr €qmq {re ffi *rq-d 10 mm2, ffi qRrtq 5C2 t, q-qffi ss+ Rrt + qq 25V 51 ffii6q };

ffifr i5r €[qcn6 t r Fmrfr, er{R dK q {A--{fr-ri +t TtreqT sT wrs 5x1020 ffitq qh EH ter (e/m-3) t r 2

T-irflr Ti{.T d;qlqr dfrq r 2

offrrfi f,{,il + fr uq616q, 2

qd€iErrd€qrR{,qd0.1H+rrsst(\,-d 10o+qRtsrddffi 22oY,50Hz a.c'*ofrq!ft-#qfr*.si'rqT

B r errn {s qRqq qr eTRf, g"ri+ V+ B, d $rd €qtRa elTndl ft{ f}rw qm fl qH aK frHq t 2

ft.waimnsrfrsdqqqRfirflqTqRf,6{ifr€T,S*{drMqgkfli*-ftt:qqqRf}rnqTqftf,*qFtwmt

11.

12.

13.

14.

15.

H* q-fi 
r

q-d qfrqrfu{r FrFfr mqd 50 cm, ffi uq{ 100 +t dEt s B, {fiq 2.5 A fr

€ t (a) qfufr-sr + *fin{ (b) {n?i; sid t qi q-{ Rt q{ qi gmq *'

2

Egn trrtr qqTFf, A

(B) fir qn qf,r *t t

2

l,t/2,.V2

1,3

1

16.

17.

18.

(Rln B lo= nx 10-7WbA-'m-'. )

,rsreT sT [,t 01i-df6 q{iq-fr qqr *or t ? S s{fdR-6 qrf,d-{ + Ai + Rq A q6-fr eTt RId r

ffideilRqq{ftKv,qt+g*meTFrqHf,qrqstreTrafird{iqtRrqB-qifu.ssqqq-sf{-dA-ftt ? 3,1

ffi q6 f,-d + Fgo qr€ffi ftT fr qR,iIqr Rtrq r e+rq frtrtffct fr vorzror fl A ffi + Eg( qrffi *T m gmql *S

rrrroot ?

19. (a) ANDi-c fr nsqrq meft Rrd r

(b) pqq1n Rfr ft-64 B ? p - nrif\ sr*s qd Wt-ilflr Fe-drft fr me +R fi{ +ror B ? sqg.ff-qRqsl Hd fr

remtr t q-q q{ 
1

I ,1,1

ETEI4I

(a) qR +trq qtrfi (swFrs $Hds) (CE) ilFrar fl ernr r-+dr g"im 100 t et{ rdHd6 qru sT qlq

8.08 mA t fr enqr PIK st( TiflEs sKI 6t qq FFFril 1 2

(b) enn Hffi erlqrdd q ffifq lfrqtrflm sI rlm 24x103 cmz V-r S-r eir Ad lfrqfl-s-or +t

qrq 0.2x103 cmzv-r S-r B srt{ ffit{ q+s 0.8x10r4.cm-3 eftr *d q;m 0.4 x l0'acmr t fr

tfietqffi{ d r{fr flr afi ftr sflqil qnFE I fl qH qf,r fit 1 2
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3

I

20.

21.

,,,

23.

(7)

ilqifuT siltq +t rrerrrf,r fr Ii{Tsd-{ sT ffifi;f,, fir{-Efq .xt{ qfi-dr Tir+{r fr qs16{ 
1

(a) qsnT-kgil q.ilq * F+qq frfuq r

(b) sfi €r{Uil ffrr fi qrq fud si,fu r+rqT dr sltrq r{ra qi'sqrtf,r t r

tBfurHf,T ryr t i tMqff errf,r sr Hqq {drA g< R'rc +t B q-s ilqmi+1 erq fr ryfr sr B r

fu{q trd d rerqil fr, {gffi qffiqqff 6J qq-qe, sr{Efq dr qqHr( rqqF+ sifrq qhGiq d Aq-c-dq s{rfiqt6 (t,
FFFr Ffg ($ D =25cm)q{ firqt'rqr fr rtB+ eilEf{ magnifying power (m) d qffi ffi r

EPEI

4 6s fts-d mror +15D eTtr -5D, eilqfr {iqd t td w t, d-+ffi +t qims 5fr rm +t r

1,1, 1,1

{,T + fdHt q+T q A BRd Frq-fr 0TNfr (t 0.125 mmB, q{ q-6rer ilaT Fffifr ?rfi*d 4500A't, vg

tfr ts r qrEr BM fr tm +1 Et q( B, +fiq ffiE + ffi n-tq STt flK Diql + +ra +t silvtfr Efr 
qdr st r

3

A EW qoz** W q{ Ent +1+-<rR rfr sr.tr E rryl ? I

q-dfq trqq d qRqrfd +-G g<, wr* qRrT Ti+il{ Btrqm fr qrqr .Et, Fgf{q eTAqT * SI qr*fi +1 qftqm

1,1,1,1

1,1,2

l,2,t,L

(a)

(b)

24. (a)

(b)

HgqqmqEqqft1*ffiMt

(a) Effi Rq g< q6f, RS eTart q + fr'q r+q Evq gs sr wFFR ffcT ildT t ? 1

(b) {rgq ffi d qRnfitrd +t r k* fr remdr fr q6 sqn enaf*fr rdd,i-fia *d + qnq (i) de * qr6(

(ii) d( + $irt (iii) fidq *d + iln rr qi filg w kgo *e * qd +1 qfW Frqrd r r,4

25. (a) gft1q EW wWi q 5tqp*+ hd r 1

(b) gildq Egq qqr *or t z qn E-s g{fi + 6q ffi Fg w fr fu {$+ ffi wrtrn r( t, * gai6q 6 6
ft{ilr+fuWfr'nFrqkFmrdr

(a)

(b)

1,4

STT4r

ffi t644o q] qftfirt q +fr q-{dr ril {rsnr B ? 1

qd flleft RgF Er$-qffi qrcrs w fr ffi ss Hrrrq Wmq frd E t, T{ d{ € qo {r q{ €-ffq qt r qs

qq d Rqn qdri ErA Hqq sT il-rT Rrd r Rm RqR( q T6 ftr e{-flfY6 *,n slt( Br t rJ< ?

3,1,1

[Tumover052/A-SS
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(8)

26. (a) sEH sI Fqaq rti + Rq qtt erd Fod r 1

(b) q-drer sr gq"r wr t ? 0iltq d roq-ar fr qil-qdq * am go"r m aqrqr +t etr ryr + Fqq sr !F gN-q

qtr 1,2,2

(a) eIrFIaT frdr fll M tilr B ? 1

(b) w ffi e}t ugffi .irHqn"neil fr E-dTil gq sqgffi fu fr sflTf,I fr s+s ilH + Rq ts t6{ q1 d gs-{

dfrq r
l,l,l,2

(English Version)

Note : (i) you must write the subject-code/paper-code 0521L in the box provided on the

title Page of Your answer-book.

(ii) Make sure that the answer-book contains 30 pages (inctud.ing title page) and are

properly serialed as soon as you receive it'

(iii) euestion/s attempted after leaving blank page/s in the answer-book would not be

evaluated.

(iv) Use of unprogrammable calculator / log tables is allowed.

(v) Answer should be to the point and supported by relevant formulas / law / principle/

diagram.

(vi) QuestionNos. 1 to I are of 6ne mark each'

(vii) QuestionNos. 9 to 16 are of two marks each'

(viii) euestion Nos.17 to 23 are of four marks each. There will be internal choice in any

two questions.

. (ix) euestion Nos.24 to 26 are of six marks each. There will be internal choice in them.

(x) punjabti and Hindi versions of questions are translations of English version. Since

translation is based on approximations, so in the case of any confusion consider

English version to be correct.

/,1l

q
For alloys the value of temperature coefficient of resistance is very high. (True / False)

was the first scientist who produced electromagnetic'waves in a laboratory.

Yf On"atomic mass unit is equal to I.67 xl}-n 8' Cies / No)

1

1

I

052/A-SS [See 9thpage
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(e)

^94n ose the correct option :

Electrical conductivity of a semi conductor-

(i) decreases with rise in its temperature.

(ii) increases with rise in its temperature.

(iii) does not changes with temperature.

(iv) first decreases and then increases with rise in temperature.

,X1 O"fine resonant frequency of LCR series circuit.

@ Whatis the de-Broglie wavelength of an electron beam accelerated through apotential difference

of25Y ?

7/ Give the basic function of antenna.

g- Wt ut are diamagnetic substances ?

,{ ]Ho*the eye of a person suffering from myopia can be corrected ? Explain with the help of ray

electrons as 5;1_0'0 electrons per cubic meter (e/m+).

grtxflain ground wave propagation.

VY A capacitor of unknown value and an inductor of 0. lH and a resistor of 10Cl are connected in

series to affi!9E, ac source. It is found that the power factor of circuit is unity. Calculate

the capacitance of capacitor and maximum amplitude of current. 2

l2/Writetwo uses of infrared rays.

Wf Wny does the thickness of depletion layer of pn-junction increases in

the circuit diagram of reverse biasing.

lN/ A solenoid of

magnetic field

Given Vo=4nx

052/A-SS

diagram.

t$) .wire with an area of cross-section as

across its ends is 25V Calculate the

2

1L**' has a resistance of IQ when a potential difference

drift velocity of electrons. Given the number density of

length lBg having 
"l=gQ.IUt+s 

carries a

(P), (a) in the interior of the solenoid, (b)

10-7wbA-rm-r.

reverse biasing ? Draw

2

current of 2,!A Find the

at one end of the solenoid.

2
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(10)

tffinut is total internal reflection of light ? What are the two essential conditions for total intemal

l,t/z,Yzreflection to take Place ?

r^.
UZf Derive an expression for the energy stored in a capacitor. In what form is the energy stored in a

chargedcapacitor? 3,1

{p"n"e e.m.f. of a cell. How can you compare the emf of two cells using potentiometer ? 1,3

rt .@{ Wnte the truth table ofAND gate.

.Wf Vnat is rectifier ? Explain the working of p-n junction diodp as a full-wave rectifier with

the help of suitable circuit diagram. 1,1,1

or

(a) A common emitter (CE) transistor has a current gain of 100. If emitter current is

8.08 mA, find the base and collector current. 2

(b) In a sample of semi conductor mobilities of electrons and holes are 24x703 cm2 V-' S-'

and 0.2x103cm2V-r S-rrespectively.Ifthedensityofelectronsis 0.8x1014cm-3 andthat

of holes is 0.4 x 10lacmr . Find the nature of semi-conductor and its conductivity. 2

Z{ Witn the help of labelled diagram, describe the principle, construction and working of a

transformer. 1,1, 1, 1

{ <gf State the laws of photo electric effect.

Name a phenomenon which illustrates the particle nature of light.

1,1,2

Wyr$the help of ray diagram, describe the construction, working of a compound microscope

when the final image is formed at least distance of distinct vision (D = 25cm). Derive an

expression for its magnifying power (m). 1 ,1 ,1 ,1

or

(a) Two lenses of powers +15D and -5D are in contact with each other. What is the focal

length of combination ?

(b) In the Young's double slit experiment, two slits 0.l25mm apart are illuminated by light of

wavelength 4500A'. The screen is 1m away from the plane of the slits. Find the separation

between second bright fringes on both sides of central maxima.

0s2lA-ss

@Nameaphenomenonwhichillustratesthepartic1enatureoflight.

gd Wnutis radioactivity ? Stateradioactive decay law and show that itis exponential innature.

3,1

1,3
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( 11 )

d @f Why two electric lines of force/field cannot intersect each otheq?

'{Wt'Write 
SI unit of magnetic dipole moment.

f Stut"Coulomb's law, explain its vector form and define S.I unit of electric charge. State

two limitations of Coulomb's law. 1,2,1,7

or

What is the shape of equipotential surface for a given point charge q. 1

State Gauss's theorem. With the help of diagram, derive an .expression for the

electric field intensity due to uniformly charged thin spherical shell at apoint (i) outside

(ii) inside (iii) on the surface of the spherical shell. 1,4

1

(a)

(b)

(b{Wnatis magnetic dipole ? Derive an expression for magnetic field intensity at a point on

the equatorial line of a bar magnet.

or

W tto* can a galvanometer be converted into an ammeter ? I

(b) Derive an expression for the force acting on a current carrying straight conductor kept in

a uniform magnetic fie1d. Name the rule used to determine the direction of this force.

Underwhat condition this force is maximum and zero? 3,1,1

[@'*"*nat is the essential condition for diffraction of light to occur ? I

\- ' Wt' Wutis polarisation of light ? Explain polarisation of light by reflection with the suitable

diagram and hence derive Brewster's law.

or

IhY With the help of suitable diagram, sign conventions and assumptions, derive Lens Maker's

1,4

<A-rfrnydoes the skY aPPearblue ?

formula for a convex lens.

1,2,2

L,1,1,2

0s2lA-ss
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